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Tnpsc group I / ii preliminary  

WEEKly TEST 1 OF February, 24 
 
1. The term ecosystem was first proposed by ____ in 1935. 

a. Tansley   b. Rachel Carson  c. I.G. Simmons  
d. None of these e. Answer not known 
1935 Mk; Mz;by;> ‘#o;epiy kz;lyk;’ vd;w thu;j;ij _____ vd;gtuhy; 
Kjd;  Kjyhf gad;gLj;jg;gl;lJ. 
a.  lhd;];yp  b. Nur;ry; fhu;rd;  c. I.[p. irkz;];  
d. ,it VJkpy;iy e. tpil njhpatpy;iy 
 

2. The book ‘silent spring’ was published by ____. 
a. Edward Suess b. Charles Darwin   c. Tansley  
d. Rachel Carson e. Answer not known 
‘iryz;l; ];gpupq;’ vd;w Gj;jfj;ij ____ ntspapl;lhu;. 
a. vl;thu;l; Rna]; b. rhu;y]; lhu;tpd;   c. lhd;];yp  
d. Nur;ry; fhu;rd; e. tpil njhpatpy;iy 
 

3. Plants and animals that live on or inside other plants or animals are called 
as _____. 
a. Detrivores    b. Parasites   c. Scavengers  
d. Decomposers   e. Answer not known 
jhtuk; my;yJ tpyq;Ffspd; cl;gFjp my;yJ ntspg;gFjpapy; thOk; 
jhtuk; my;yJ tpyq;if ____ vd;W miof;fpNwhk;. 
a. kl;Fz;zp   b. Xl;Lz;zp  c. mOf;Fz;zp   
d. rpijg;Nghu;fs;  e. tpil njhpatpy;iy 
 

4. Which of the following are natural decomposers? 
I. Fungi   II. Bacteria   III. Mushroom 
a. I alone  b. I, II c. II alone d. I, II, III e. Answer not known 
,tw;wpy; vit ,aw;if rpijg;Nghu;fs; 
I. G+Q;ir   II. ghf;Bupah   III. fhshd; 
a. I kl;Lk;  b. I, II c. II kl;Lk; d. I, II, III e. tpil njhpatpy;iy 
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5. Ten percent law of energy transfer in food chain is given by ____ 
a. Elton   b. Lindemann   c. Darwin   
d. Tansley   e. Answer not known 
gj;J rjtPj Mw;wy; czTr; rq;fpypapy; flj;jg;gLfpwJ vd;W nrhd;dtu; 
_____. 
a. vy;ld;   b. ypd;bNkd;   c. lhu;tpd;   
d. lhd;];yp  e. tpil njhpatpy;iy 
 

6. Choose correct pairs 
1. October 11 – National Childrens Day 
2. October 7 – Nilgiri Tahr Day 
3. October 6 – World Cerebral Palsy Day 
4. October 15 – World Students Day 
a. 1 pair  b. 2 pairs c. 3 pairs d. 4 pairs e. Answer not known 
rhpahd ,iziaf; fhz;f 
1. mf;Nlhgh; 11 – Njrpa Foe;ijfs; jpdk; 
2. mf;Nlhgh; 7 – ePyfphp tiuahL jpdk; 
3. mf;Nlhgh; 6 – cyf ngU%is thjk; jpdk; 
4. mf;Nlhgh; 15 – cyf khzth;fs; jpdk; 
a. xU ,iz  b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs; e. tpil njhpatpy;iy 
 

7. The main natural carbon sinks are ____ 
I. Plants  II. Ocean   III. Soil 
a. I alone b. II alone  c. I, II d. I, II, III e. Answer not known 
Kf;fpakhd ,aw;if fhu;gd; Njf;fq;fs; vit? 
I. jhtuq;fs;   II. ngUq;fly;fs;  III. kz; 
a. I kl;Lk;  b. II kl;Lk;  c. I, II    d. I, II, III  e. tpil njhpatpy;iy
  

8. The mega ecosystem operating over large areas are called as _____. 
a. Biomes   b. Wetlands  c. Ecosphere  
d. none of these  e. Answer not known 
____ kpfg; ngupa gug;gstpy; nray;gLk; #o;epiy kz;lykhf cs;sd. 
a. capupd #o;tho;tplq;fs; b. <uepyq;fs; c. #oy; kz;lyk;  
d. ,it VJkpy;iy   e. tpil njhpatpy;iy 
 

9. Mangrove forests of Tamil Nadu are found in ____. 
I. Pichavaram  II. Muthupet   III. Ramnad 
IV. Gulf of Mannar V. Punnakayal 
a. I, II, IV   b. I, II, V    c. I, II, IV, V   
d. All of these  e. Answer not known 
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jkpo;ehl;by; rJg;Gepyf; fhLfs; vq;F cs;sd? 
I. gpr;rhtuk;  II. Kj;Jg;Ngl;il  III. uhkehjGuk; 
IV. kd;dhu;tisFlh V. Gd;dfhay; 
a. I, II, IV    b. I, II, V    c. I, II, IV, V  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

10. Match the following 
Temperate Grassland  Places 
A. Steppes    1. South America 
B. Prairies    2. Australia 
C. Pampas    3. North America 
D. Downs    4. Europe and Asia  
nghUj;Jf. 
kpjntg;gkz;lyg; Gy;ntsp  ,lk; 

 A. ];nlg;gp    1. njd; mnkupf;fh 
 B. gpnua;up    2. M];jpNuypah 
 C. ghk;gh];   3. tl mnkhpf;fh 
 D. nlsd;];   4. INuhg;gh kw;Wk; Mrpah 

A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 3 4 1 2 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
11. ____ is a biome that is always changing. 

a. Tropical Monsoon Forest b. Temperate Deciduous Forest 
c. Tropical Grassland   d. Temperate Grassland 
e. Answer not known 
_____ capupdr; #o;thoplk; vg;NghJk; khw;wkile;J nfhz;Nl ,Uf;Fk;. 
a. ntg;gkz;ly gUtfhy fhLfs;  
b. kpj ntg;gkz;ly ,iyAjph; fhLfs; 
c. ntg;gkz;ly Gy;ntspfs; 
d. kpj ntg;gkz;ly Gy;ntspfs; 
e. tpil njhpatpy;iy 
 

12. Consider the following statements 
1. TN Protected Agricultural Zone Development Act was enacted in 2023 
2. Under the above Act, Thanjavur, Thiruvarur, Nagai, Myladuthurai and 

certain blocks of Pudhukottai and Cuddalore are declared as protected 
zone 
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3. In the above Act, ‘Animal Husbandary and Inland Fishery’ is included 
within the ambit of term Agriculture 

a. 2, 3 are correct  b. 1, 2 are correct  c. 2 alone is correct 
d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. jkpo;ehL ghJfhf;fg;gl;l Ntshz; kz;ly tsh;r;rp rl;lk; 2023 Mk; 

Mz;L ,aw;wg;gl;lJ 
2. Nkw;fz;l rl;lj;jpd; fPo; jQ;rhT+u;> jpUth&u;> ehif> kapyhLJiw 

kw;Wk; GJf;Nfhl;il kw;Wk; flY}u; Mfpa khtl;lq;fspy; cs;s rpy 
tl;lq;fs; ghJfhf;fg;gl;l khtl;lq;fs; kz;lykhf mwptpf;fg;gl;Ls;sJ 

3. Nkw;fz;l rl;lj;jpy;> ‘fhy;eil kw;Wk; cs;ehl;L kPd;gpbj;jy;’ Mfpait 
tptrhak; vd;w nrhy;ypd; tuk;gpw;Fs; Nru;f;fg;gl;Ls;sJ. 

a. 2, 3 rhp    b. 1, 2 rhp    c. 2 kl;Lk; rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
13. ____ is also called as Boreal Forest. 

a. Tundra   b. Taiga    c. Grassland   
d. Desert   e. Answer not known 
_____ tlKidg;gFjp fhL vd;Wk; miof;fg;gLfpwJ. 
a. J}e;jpuk;   b. ilfh    c. Gy;ntsp   
d. ghiytdk;  e. tpil njhpatpy;iy 
 

14. Name the 90th Chapter of Kural 
a. The Zeal  b. Evils of Killing  c. Respect for Elders  
d. None of these e. Answer not known 
jpUf;Fwspy; 90tJ mjpfhuk; vJ? 
a. Cf;fKilik b. nfhy;yhik   c. nghpahiu gpioahik 
d. mUSilik  e. tpil njhpatpy;iy 
 

15. Aishwarya's present age is 33 
1

3
% of his mother's present age. 

Aishwaraya's brother present age is 11 year, and he is 34 years younger to 
his mother. What is present age of Aishwarya?  
I];th;ahtpd; jw;Nghija taJ mtuJ mk;khtpd; jw;Nghija tajpy; 33 
1

3
% MFk;. I];th;ahtpd; rNfhjudpd; taJ 11 kw;Wk; mth; mtUila 

jhahiu tpl 34 taJ ,isath; vdpy; I];th;ahtpd; jw;Nghija taJ 
vd;d?  
a. 15   b. 12  c. 18  d. 21   e. Answer not known 
 

16. Choose correct pair 
I. Berbers  - North Africa 
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II. Bedouins - Arabian Desert 
III. Damara - Namibia 
IV. Bushman - Kalahari Desert 
V. Aborigines - North America 
a. I, II b. I, II, III c. II, III, IV, V d. I, II, III, IV  e. Answer not known 
rupahd ,iziaj; Nju;e;njLf. 
I. ngu;ngu;];  - tl Mg;gpupf;fh 
II. ngNlha;d;]; - mNugpad; ghiytdk; 
III. lkhuh  -  ekPgpah 
IV. G];nkd;  - fyfhup ghiytdk; 
V. mghup[pd;]; - tl mnkupf;fh 
a. I, II   b. I, II, III    c. II, III, IV, V   
d. I, II, III, IV  e. tpil njhpatpy;iy 
 

17. Who coined the term Biodiversity hotspot? 
a. E.O. Wilson  b. F. Dasmann   c. Norman Myers  
d. Elton   e. Answer not known 
capupdg; gd;ik ts ikaq;fs; vd;fpw thu;j;ijia cUthf;fpaJ ahu;? 
a. ,.X.tpy;rd;  b. vg;. lh];Nkd;  c. ehu;kd; iku;];  
d. vy;ld;   e. tpil njhpatpy;iy 
 

18. To qualify as Bio-diversity hotspot, which of the following criteria must be 
needed? 
I. It must contain atleast 1500 species of endemic plants 
II. It must have lost atleast 70% of its original habitat. 
a. I only   b. II only    c. Both I and II   
d. None of these   e. Answer not known 
Xu; kz;lyk; capupdg; gd;ik tsikakhf fUjg;gLtjw;F vd;ndd;d 
tpjpfs; ,Uf;fpd;wd? 
I. Fiwe;jJ 1>500 jdpr;rpwg;G nfhz;l rpw;wpd jhtuq;fisf; 

nfhz;bUf;f Ntz;Lk;. 
II. mt;tplj;jpw;Nf cupa thopl ,og;G 70% nfhz;ljhf ,Uf;f 

Ntz;Lk;. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

19. Which of the following are endemic species? 
I. Asiatic Lion  II. Kashmir stag  III. Lion Tailed Macaque 
a. I alone b. I, II c. III alone   d. I, II, III  e. Answer not known 
,tw;Ws; vit tl;lhu rpw;wpdk;? 
I. Mrpa rpq;fk;  II. fh~;kPu; fiykhd;  III. rpq;fthy; Fuq;Ffs; 
a. I kl;Lk; b. I, II c. III kl;Lk;  d. I, II, III e. tpil njhpatpy;iy 
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20. Pygmy hog is a/an____ species. 

a. Endangered   b. Critically endangered  c. Extinct  
d. Vulnerable   e. Answer not known 
Fs;sfhl;Lg;gd;wp _____ capupdk;. 
a. mopAk; epiy   b. mghafukhd mopAk; epiy  
c. mopTw;w epiy  d. mjpf ghjpf;fg;gl;l epiy 
e. tpil njhpatpy;iy 
 

21. Find the Mobile App developed by TNeGA related to rural development 
a. e-parvai   b. Namma Salai   c. Namma Grama Sabhai 
d. Both b and c  e. Answer not known 
TNeGA cUthf;fpa fpuhkg;Gw Nkk;ghL njhlu;ghd ifg;Ngrp nraypiaf; 
fz;lwpaTk; 
a. e-ghh;it   b. ek;k rhiy   c. ek;k fpuhk rig 
d. b kw;Wk; c  e. tpil njhpatpy;iy 
 

22. Consider the following statements 
I) There 18 Bio-sphere Reserves in India. 
II) Out of 18, 11 are part of World Network of Biosphere Reserves. 
a. I only is correct  b. II only is correct c. Both are correct  
d. Both are wrong  e. Answer not known 
fPo;fhZk; thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. jw;NghJ ,e;jpahtpy; 18 capupf;Nfhs tsikaq;fs; cs;sd. 
II. 18 capu;f;Nfhs tsikaikg;gpy; 11 tsikaq;fs; cyf 

capu;f;Nfhs fhg;ghf tiyaikg;Gfspy; cs;sd. 
a. I kl;Lk; rhp   b. II kl;Lk; rhp  c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

23. Choose incorrect pair 
a. Project Turtle   - 1999 
b. Project Rhinoceros   - 1987 
c. Operation Crocodile  - 1975 
d. Indian Rhino Vision  - 2025 (target year)  
e. Answer not known 
nghUe;jhjtw;iw Nju;e;njLf. 
a. fly; Mikfs; ghJfhg;Gj; jpl;lk;  - 1999 
b. fhz;lhkpUf ghJfhg;Gj; jpl;lk;  - 1987 
c. Kjiyfs; tsu;g;G ,af;fk;   - 1975 
d. ,e;jpa fhz;lhkpUf ghJfhg;Gj; jpl;lk; - 2025 (Fwpf;Nfhs; Mz;L) 
e. tpil njhpatpy;iy 
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24. Find out the correct statements: 

i) Demography is the statistical study of human population 
ii) Four birth take place every second in the world 
a. i, ii  b. i only c. ii only d. none  e. Answer not known 
rhpahd $w;iwj; Nju;e;njL. 
i) nlkhf;uh/gp vd;gJ kf;fs;njhifg; gw;wp tpsf;Fk; xU 

Gs;sptptug;gbg;ghFk;. 
ii) cyfpy; xU nehbf;F ehd;F Foe;ijfs; gpwf;fpd;wdu;. 
a. i, ii  b. i kl;Lk; c. ii kl;Lk; d. VJkpy;iy e. tpil njhpatpy;iy 

 
25. Choose the correct statements: 

i) Nutritional density is the ratio between total population and total 
cropped area.  

ii) The total arable land in the world is 12.9%.  
iii) The nutritional density of the world is 325 per sq.km of land.  
a. i, ii  b. i, iii c. ii, iii d. i, ii, iii  e. Answer not known 
rupahd $w;wpid Nju;e;njL. 
i) Cl;lr;rj;J mlu;j;jp vd;gJ nkhj;j kf;fs;njhiff;Fk;. nkhj;j 

gapuplg;gl;l gug;gsTf;Fk; ,ilNaahd tpfpjhr;rhuk;. 
ii) cyfpd; tpisepyk; 12.9%. 
iii) cyfpd; Cl;lr;rj;J mlu;j;jp tPjk; xU rJu fpNyhkPl;lUf;F 325 Ngu;. 
a. i, ii  b. i, iii c. ii, iii d. i, ii, iii  e. tpil njhpatpy;iy 
 

26. Which of the following statements is/are correct? 
i) The total percentage of arable land is 48 : 83 in India.  
ii) Nutritional density of India is 753 per sq.km of land.  
a. i, ii  b. i only c. ii only d. none   e. Answer not known  
gpd;tUtdtw;Ws; rupahd $w;wpidj; Nju;e;njL. 
i) ,e;jpahtpy; cs;s nkhj;j tpisepyk; 48-83 rjtPjk;. 
ii) ,e;jpahtpd; Cl;lr;rj;J mlh;j;jp xU rJu fpNyhkPl;;lUf;F 753 Ngu;. 
a. i, ii  b. i kl;Lk; c. ii kl;Lk; d. VJkpy;iy e. tpil njhpatpy;iy 
 

27. Consider the following statements regarding RRTS 
1. RRTS – Regional Rapid Transit System 
2. RRTS was introduced between Delhi – Meerut 
3. RRTS is similar to Metro Rail 
a. 1, 2 are correct  b. 1 alone is correct  c. 1, 3 are correct 
d. All are correct  e. Answer not known 
RRTS Fwpj;j $w;Wfis Ma;f 
1. RRTS – Regional Rapid Transit System 
2. RRTS nly;yp kw;Wk; kPul;Lf;fpilNa mwpKfg;gLj;jg;gl;lJ 
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3. RRTS nkl;Nuh uapiy xj;Js;sJ 
a. 1> 2 rhp    b. 1 kl;Lk; rhp   c. 1> 3 rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

28. Density of population is measured as  
a. Land area/Employment    
b. Land area/Total population 
c. Total population/Employment  
d. Total population/Land area of the region 
e. Answer not known 
kf;fs;njhif mlu;j;jpia mstpLtJ. 
a. epyg;gug;G/Ntiytha;g;G   
b. epyg;gug;G/nkhj;j kf;fs;njhif 
c. nkhj;jkf;fs;njhif/Ntiytha;g;G 
d. nkhj;jkf;fs;njhif/gFjpapd; epyg;gug;G 
e. tpil njhpatpy;iy 
 

29. Choose the incorrect statement: 
i) Niger has the highest fertility rate. 
ii) Mexico has the lowest fertility rate. 
iii) South Sudan has the highest population growth rate.  
a. i, ii  b. ii only c. iii only d. none e. Answer not known 
jtwhd $w;wpidj; Nju;e;njL. 
i) cyfpNyNa ie[upy;jhd; kpf mjpf fUTUjy; tpfpjk;. 
ii) nkf;rpNfhtpy; kpf Fiwthd fUTUjy; tpfpjk;. 
iii) cyfpNyNa njw;F#lhd; kpf mjpf kf;fs;njhif tsu;r;rp 

tPjj;ijf;nfhz;lJ. 
a. i, ii  b. ii kl;Lk; c. iii kl;Lk;  d. VJkpy;iy  e. tpil njhpatpy;iy 
 

30. The average height of 10 students in a class was calculated as 166 cm. On 
verification it was found that one reading was wrongly recorded as 160 cm 
instead of 150 cm. Find the correct mean height.  
xU tFg;gpYs;s 10 khzth;fspd; ruhrhp cauk; 166 nr.kP vdf; 
fzf;fplg;gl;lJ. jfty;fisr; rhpghh;f;Fk;NghJ xU kjpg;G 150 nr.kP.f;F 
gjpyhf 160 nr.kP vd;W Fwpg;gplg;gl;lJ fz;Lgpbf;fg;gl;lJ vdpy; rhpahd 
ruhrhp cauj;ijf; fhz;f.  
a. 175 cm b. 165 cm c. 155 cm  d. 160 cm   e. Answer not known 
 

31. Consider the following statements: 
I. Around 1750, at the dawn of Industrial Revolution, the world 

population was 500 million.  
II. The current world population is 7.6 billion (February 2019) 
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III. 83 million people are being added to the world’s population every 
year.  

a. I, II and III are correct  b. II and III are correct c. I and II are correct  
d. I and III are correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Vwf;Fiwa 1750-y; njhopw;Gul;rp Vw;gl;lNghJ cyf 

kf;fs;njhifahdJ 500 kpy;ypadhf ,Ue;jJ. 
II. jw;Nghija cyf kf;fs;njhif 7.6 gpy;ypad;. (gpg;uthp 2019) 
III. xt;nthU Mz;Lk; 83 kpy;ypad; kf;fs; cyf kf;fs;njhifNahL 

Gjpjhf Nru;f;fg;gLfpd;wdu;. 
a. I, II kw;Wk; III rup  b. II kw;Wk; III rup   c. I kw;Wk; II rup  
d. I kw;Wk; III rup   e. tpil njhpatpy;iy 
 

32. Consider the following statements: 
Assertion (A): October 12, 1999 is celebrated as the Day of 6 Billion. 
Reason (R): According to the United Nations, the 6 billion figures was 
reached on October 12, 1999. 
a. Both A and R are correct and R is the correct explanation of A 
b. A is true, but R is false 
c. A is false, but R is true 
d. Both A and R are true and R is not the correct explanation of A 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): mf;Nlhgu; 12 Mk; ehs;> 1999MdJ 6 gpy;ypad; ehs; vd 
nfhz;lhlg;gLfpwJ. 
fhuzk; (R): I.eh. rigapd; $w;Wg;gb 1999 Mk; Mz;L mf;Nlhgu; 12  
   Mk; ehs; cyf kf;fs;njhif 6 gpy;ypaid mile;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 
 

33. The year in which the Environmental Protection Act implemented was 
a. 1974 b. 1986 c. 1981 d. 1978  e. Answer not known 
Rw;Wr;#oy; ghJfhg;Gr; rl;llk; ,aw;wg;gl;l Mz;L 
a. 1974 b. 1986  c. 1981 d. 1978  e. tpil njhpatpy;iy 
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34. Fill in the blank 
Who dare the fiery wrath of monarchs dread, 
Where'er they ______, are numbered with the dead. 
a. flee b. Zeal c. elders d. Insult   d. Answer not knoan 
Nfhbl;l ,lj;ij epug;Gf 
ahz;Lr;nrd;W ________ csuhfhh; nte;Jg;gpd; 
Nte;J nrwg;gl; lth; 
a. ahz;Lk;   b. Cf;fk; c. nghpahiu c. ,fo; e. tpil njhpatpy;iy 

 
35. Choose incorrect statement regarding SHRESHTA Scheme 

1. The above scheme is implemented by Ministry of Education 
2. The Scheme is related to Residential education of SC students in high 

schools 
3. The scheme aims to provide high quality education and environment 

for socio-economic development of SC students 
a. 1, 2 b. 1 alone c. 2, 3 d. All of these e. Answer not known 
SHRESHTA jpl;lk; Fwpj;j jtwhd $w;iwj; Njh;f 
1. ,j;jpl;lk; fy;tp mikr;rfj;jhy; nray;gLj;jg;gl;lJ 
2. ,j;jpl;lk; cau;epiyg; gs;spfspy; SC khztu;fspd; ,Ug;gplj;Jld; 

$ba fy;tp njhlu;ghdJ 
3. SC khztu;fspd; r%f-nghUshjhu Nkk;ghl;bw;fhd cau;ju fy;tp 

kw;Wk; R+oiy toq;Ftij ,e;j jpl;lk; Nehf;fkhff; nfhz;Ls;sJ 
a. 1, 2 b. 1 kl;Lk; c. 2, 3  d. midj;Jk; e. tpil njhpatpy;iy 
 

36. According to 2011 census, the density of population in India is 
a. 382 persons per sq km  b. 324 persons per sq km   
c. 267 persons per sq km    d.  555 persons per sq km 
e. Answer not known   
2011 Mk; Mz;L fzf;nfLg;gpd;gb ,e;jpahtpy; kf;fs; njhif mlh;j;jp 
a. xU rJu fpNyh kPl;lUf;F 382 egh;fs; 
b. xU rJu fpNyh kPl;lUf;F 324 egh;fs; 
c. xU rJu fpNyh kPl;lUf;F 267 egh;fs; 
d. xU rJu fpNyh kPl;lUf;F 555 egh;fs; 
e. tpil njhpatpy;iy 

 
37. When was ‘Project Elephant’ launched?  

a. December – 1978  b. September – 1997  c. February – 1992  
d. January – 1996   e. Answer not known 
“ahid nray;jpl;lk;” vg;NghJ nray;gLj;jg;gl;lJ? 
a. brk;gh; - 1978   b. nrg;lk;gh; - 1997  c. gpg;uthp – 1992   
d. [dthp – 1996  e. tpil njhpatpy;iy 
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38. Plants and animals living in a area constitutes community 
a. Plantation   b. Community   c. Population  
d. Ecosystem   e. Answer not known 
jhtuq;fSk;> tpyq;fpdq;fSk; xU gFjpapy; tho;tJ ______ 
a. FbNawplk;   b. ,df;Fokk;   c. caphpdj;jpus; 
d. #o;epiy kz;lyk;  e. tpil njhpatpy;iy 

 
39.  Which of the following is the determinants of population growth?  

a. Agriculture and industrial revolutions. 
 b. Improvements in medical care 

c. Protection from the natural calamity  
d. All the above 
e. Answer not known 
kf;fs; njhif tsh;r;rpia eph;zapg;git vit? 
a. Ntshz; kw;Wk; njhopw; Gul;;rp  b. kUj;Jtj; Jiw Kd;Ndw;wk; 
c. ,aw;if NguopTfspy; ,Ue;J ghJfhg;G d. ,it midj;Jk;  
e. tpil njhpatpy;iy 
 

40. The Industrial Policy Resolution of 1948 had ushered in India the system of 
__________ Economy  
a. Capitalist   b. Socialist    c. Mixed    
d. Communist      e. Answer not known 
1948- njhopw;nfhs;if> ,e;jpahtpy; vt;tifahd nghUshjhu Kiwia 
mwpKfg;gLj;jpaJ? 
a. Kjyhspj;Jt nghUshjhuk; b. rkju;kthj nghUshjhuk; 
c. fyg;G nghUshjhuk;  d. nghJTilik nghUshjhuk; 
e. tpil njhpatpy;iy 
 

41. The Industrial Policy Resolution, 1948 had emphasized centre’s monopoly 
in  
1. Railways   2. Arms and Ammunition   3. Atomic energy 
4. Postal department  5. Mineral oil  
a. 1, 2, 4, 5   b. 2, 3, 4, 5    c. 1, 2, 3, 4   
d. 1, 2, 3, 4, 5    e. Answer not known 
1948 –njhopw;nfhs;ifapd;gb> ika murpd; Kd;Dupikapy; ,Ue;j 
Jiwfs;>  
1. ,uapy;Nt  2. ,uhZtj; jsthlq;fs;  3. mZ Mw;wy; 
4. jghy;Jiw  5. vz;nza; tsq;fs; 
a. 1, 2, 4, 5   b. 2, 3, 4, 5    c. 1, 2, 3, 4   
d. 1, 2, 3, 4, 5    e. tpil njhpatpy;iy 
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42. Choose incorrect pairs 
1. Parvatmala – Ropeway 
2. GLOF – Glacial Lake Outburst Flood 
3. Tribal University – Jharkhand 
4. Sagar Parikrama Phase IX – Tamil Nadu & Pudhucherry 
a. 1 pair   b. 2 pairs    c. 3 pairs 
d. 4 pairs   e. Answer not known 
jtwhd ,iziaf; Njh;f 
1. gh;tjkhyh – fapW ghij 
2. GLOF – gdpg;ghiw Vhp ntbg;G nts;sk; 
3. goq;Fbapdh; gy;fiyf;fofk; - [hh;fz;l;  
4. rhfh; ghpf;ukh fl;lk; IX – jkpo;ehL kw;Wk; GJr;Nrhp 
a. 1 ,iz  b. 2 ,izfs;   c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njhpatpy;iy 
 

43. The Industrial Policy Resolution, 1948 had classified industries as  
1. Strategic industries   2. Key industries  
3. Controlled private sector  4. Private and cooperative sectors  
a. 1, 2, 3, 4   b. 1, 2, 4     c. 3, 4   
d. 1, 2      e. Answer not known 
1948- njhopw;nfhs;ifapd;gb> njhopy;fs; vt;thW tifg;gLj;jg;gl;ld? 
1. %yj;njhopy;fs;    2. Kf;fpaj;njhopy;fs; 
3. fl;Lg;gLj;jg;gl;l jdpahu;Jiw  4. jdpahu; kw;Wk; $l;LwT epWtdq;fs; 
a. 1, 2, 3, 4   b. 1, 2, 4     c. 3, 4   
d. 1, 2      e. tpil njhpatpy;iy 
 

44. The Public Sector Industries are called as ___________ industries  
a. Strategic    b. Key   c. Monopolistic    
d. Combination    e. Answer not known 
nghJj;Jiw njhopy;fs; _____ vd miof;fg;gLfpd;wd? 
a. %yj;njhopy;fs; b. Kf;fpaj;njhopy;fs; c. Kw;Wupiknjhopy;fs; 
d. $l;Lj;njhopy;fs; e. tpil njhpatpy;iy 
 

45. In an examination, a student was asked to find 
3

14
 of a certain number. By 

mistake, he found 
3

4
of that number. His answer was 150 more than the 

correct answer. The number is: 

Njh;tpy; xU khztd; xU vz;iz 3
14

 My; ngUf;Ftjw;Fg; gjpyhf 3
4

 

My; ngUf;fpdhy; fpilf;Fk; tpilahdJ> rhpahd tpilia tpl 150 
mjpfnkdpy;> me;j vz; vd;d?  
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a. 180  b. 240 c. 280 d. 290 e. Answer not known 
46. The Industrial Resolution Policy, 1956 was shaped by the __________ 

model of growth  
a. Jawaharlal Nehru  b. Mahalanobis   c. Gandhian   
d. M.N Roy     e. Answer not known 
njhopw;Jiw jPu;khdf; nfhs;if> 1956 ve;j tsu;r;rp khjpupapd; mbg;gilapy; 
mikf;fg;gl;lJ? 
a. [t`u;yhy; NeU  b. kfyNdhgp];   c. fhe;jpad;  
d. M.N. uha;   e. tpil njhpatpy;iy 
 

47. Consider the following 
Assertion (A): Shade and water are not pleasant, (if) they cause disease 
Reason (R): qualities of one's relations not agreeable, they cause pain. 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W (A): ,d;gk; jUk; epoYk; ePUk; Neha; nra;tdthf ,Ue;jhy;  
     jPadNt MFk;.  
fhuzk; (R): Rw;wj;jhhpd; jd;ikfSk; Jd;gk; jUkhdhy; jPadNt  
  MFk;.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy 

 
48. Consider the following statements: 

a. The third category contained all the uncategorised industries which were 
open for the state 

b. It was expected that private sector would initiate development of these 
industries  

Which is correct with respect to Industrial Policy Resolution, 1956? 
a. 1 only    b. 2 only    c. Both 1 and 2   
d. Neither 1 nor 2    e. Answer not known 
gpd;tUk; $w;Wfis fUJf. 
1. tifg;gLj;jg;glhj midj;J njhopy;fSk; %d;whtJ gpuptpy; 

tifg;gLj;jg;gl;L muNr Nkw;nfhs;s toptif cz;L 
2. jdpahu; Jiw ,j;njhopy;fspd; tsu;r;rpia Nehf;fkhff; nfhz;L 

nray;gLk; vd vjpu;ghu;f;fg;gLfpwJ. 
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njhopw;nfhs;if 1956> I nghUj;J Nkw;fz;ltw;Ws; rupahdtw;iw 
Nju;e;njLf;fTk;. 
a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
 

49. The new technology in agricultural practices in 1960-1961 was called the 
_________ 
a. High yielding programme (HYP)  
b. Crop Revolution programme  
c. High Yielding Varieties Programme (HYVP)   
d. Food revolution programme  
e. Answer not known 
1960 – 61y; Ntshz; Jiwapy; Gjpa njhopy;El;gj;ij gad;gLj;Jk; Kaw;rp 
vt;thW miof;fg;gl;lJ? 
a. mjpf tpisr;ry; jpl;lk; (HYP) 
b. gapu; Gul;rp jpl;lk; 
c. mjpf tpisr;ry; jUk; ufq;fis cw;gj;jp nra;tjw;fhd jpl;lk; (HYVP) 
d. czT Gul;rp jpl;lk; 
e. tpil njhpatpy;iy 
 

50. Find the pillars of Sagarmala Scheme  
1. Port Modernization   2. Port Connectivity 
3. Port led industrial development 4. Coastal Community development 
5. Inland Water Transport   
a. 1, 2, 3, 4    b. 1, 2, 4, 5    c. 2, 3, 4 
d. All of these   e. Answer not known 
rhfh;khyh jpl;lj;jpd; J}z;fis fz;lwpf 
1. JiwKf etPdkakhf;fy;   
2. JiwKf ,izg;G 
3. JiwKfk; topahf njhopy;Jiw tsh;r;rp 
4. flNyhu r%f tsh;r;rp 
5. cs;ehl;L ePh; Nghf;Ftuj;J 
a. 1, 2, 3, 4    b. 1, 2, 4, 5    c. 2, 3, 4 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

51. The Public Law 480 is of _________ 
a. Russia    b. China    c. US    
d.UK      e. Answer not known 
nghJr;rl;lk; 480 (PL 480) vd;gJ ve;j ehl;LilaJ? 
a. ,u~;ah   b. rPdh    c. mnkupf;fh   
d. ,q;fpyhe;J  e. tpil njhpatpy;iy 
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52. The new agricultural strategy was called as  

1. Modern agricultural technology 
2. Seed – Fertilizer – water technology  
3. Green revolution  
a. 1, 2, 3   b. 1 only    c. 2, 3   
d. 1, 3      e. Answer not known 
Gjpa Ntshz; Af;jpKiw vt;thwhf miof;fg;gLfpwJ? 
1. Gjpa Ntshz; njhopy;El;gk; 
2. tpij – cuq;fs; - jz;zPu; njhopy;El;gk; 
3. gRik Gul;rp 
a. 1> 2> 3   b. 1 kl;Lk;    c. 2> 3   
d. 1> 3   e. tpil njhpatpy;iy 
 

53. The requirements of Second Green Revolution is  
1. Introduction of GM seeds  
2. Linking of rivers to transfer water   
Which is correct? 
a. 1 only   b. 2 only    c. Both 1 and 2   
d. Neither 1 nor 2  e. Answer not known 
,uz;lhtJ gRikg; Gul;rpf;fhd Njitfs;  
1. kugZ khw;wk; nra;ag;gl;l tpijfis mwpKfk; nra;jy;. 
2. ejpePu; ,izg;gpd; %yk; ePu; gupkhw;wk;.  
rupahd $w;iwj; Nju;Tnra;f? 
a. 1 kl;Lk;    b. 2 kl;Lk; c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
 

54. TISCO is located in _________ 
a. Jharia   b. Jamshedpur    c. Karagpur   
d. Mohali     e. Answer not known 
TISCO vq;F mike;Js;sJ? 
a. [hupah   b. [hk;n[l;G+u;   c. fhuf;G+u;   
d. nkhfhyp  e. tpil njhpatpy;iy 
 

55. The Vishveshvarayya Iron and Steel Ltd was setup at ________ 
a. Burnpur   b. Bhadrawati    c. Bengal    
d. Jamshedpur   e. Answer not known 
tp];Nt];tua;ah ,Uk;G kw;Wk; v/F njhopy; epWtdk; vq;F epWtg;gl;lJ? 
a. gu;dG+u;   b. gj;uhtjp   c. tq;fhsk;   
d. [hk;n[l;G+u;  e. tpil njhpatpy;iy 
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56. Choose the correct statements regarding Saraswathi Samman Award 

1. Recently award was announced for the year 2022 
2. The award was given by K.K. Birla foundation since 1991 
3. 2022 Awardee is Sivasankari from TN 
4. This award is related to literature 
a. 2, 3, 4    b. 1, 3, 4    c. 1, 2, 3 
d. All of these   e. Answer not known 
ru];tjp rk;khd; tpUJ Fwpj;j rhpahd $w;Wfis Njh;f 
1. rkPgj;jpy; 2022 Mz;Lf;fhd tpUJ mwptpf;fg;gl;lJ 
2. ,t;tpUjpid 1991Mk; Mz;L Kjy; Nf.Nf. gph;yh mwf;fl;lis 

toq;fptUfpwJ. 
3. 2022 Mk; Mz;L jkpo;ehl;bd; rptrq;fhp ,t;tpUjpidg;ngw;whh; 
4. ,t;tpUJ ,yf;fpak; njhlh;ghdJ 
a. 2, 3, 4    b. 1, 3, 4    c. 1, 2, 3 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

57. The First Modernised Industrial unit of Jute was established at _________ 
in 1855 
a. Reshra   b. Kulti     c. Kharas    
d. Salem     e. Answer not known 
1855y; ___ vd;Dkplj;jpy; Kjy; etPdkag;gLj;jg;gl;l rzy; njhopw;rhiy 
epWtg;gl;lJ 
a. Nu~;uh  b. Fy;b    c. fhuh];  
d. Nryk;   e. tpil njhpatpy;iy 
 

58. The oldest industry of India is ___________ industry   
a. Iron and steel   b. Cotton     c. Jute    
d. Sugar      e. Answer not known  
,e;jpahtpy; kpfg;goikahd njhopy;? 
a. ,Uk;G> v/F njhopy; b. gUj;jpj; njhopy; c. rzy; njhopy;  
d. ru;f;fiu njhopy;  e. tpil njhpatpy;iy 
 

59. The first mechanised paper mill was setup in _________ 
a. Travancore   b. Serampur    c. Calcutta    
d. Burnpur    e. Answer not known 
Kjy; ,ae;jpuj;jhy; nray;gLk; fhfpj Miy vq;F mikf;fg;gl;lJ? 
a. jpUthq;$u;  b. nruhk;G+u;   c. fy;fj;jh   
d. gu;dG+u;   e. tpil njhpatpy;iy 
 

60. Find the sum of the series : 
1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........+ (1 +2+3+4+...... + 20)  
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njhlhpd; $Ljy; fhz;. 
1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........+ (1 +2+3+4+...... + 20)  
a. 1470  b. 1540    c. 1570   
d. 1370   e. Answer not known 
 

61. The first successful oil well in India was dug in 1889 at _______ 
a. Bombay   b. Digboi    c. Jharia    
d. Fort Gloaster    e. Answer not known 
1889’y; ntw;wpfukhf Njhz;lg;gl;l ,e;jpahtpd; Kjy; vz;nza;f; fpzW 
vq;Fs;sJ? 
a. Kk;ig   b. bf;gha;    c. [hupah   
d. Nghh;l; FNsh];lu; e. tpil njhpatpy;iy 
 

62. The government nationalised 14 major commercial banks on _________ 
a. 19 July 1949  b. 19 July 1969   c. 19 July 1979  
d. 19 July 1980   e. Answer not known 
,e;jpa muR 14 ngupa tzpf tq;fpfis ___ md;W Njrpakakhf;fpaJ  
a. 19 [_iy 1949 b. 19 [_iy 1969  c. 19 [_iy 1979  
d. 19 [_iy 1980 e. tpil njhpatpy;iy 
 

63. Supriya Chakrabarty Vs Union of India Case is related to _______ 
a. Same Sex Marriage  b. Decriminalization of homosexuality 
c. Right to Privacy   d. ST Reservation 
e. Answer not known 
Rg;upah rf;utu;j;jp Vs ,e;jpa xd;wpak; tof;F _______ njhlu;ghdJ 
a. xNu ghypd jpUkzk;  b. Xhpdr;Nrh;f;ifia Fw;wkw;wjhf;Fjy; 
c. jdpAhpikf;fhd chpik  d. goq;Fbapdh; ,lxJf;fPL 
e. tpil njhpatpy;iy 
 

64. Consider the following statements 
1. Fear not foes who say they would cut like a sword 
2. Fear the friendship of foes (who seemingly act) like relations. 
a. 1 correct but 2 incorrect  b. 1 incorrect but 2 correct 
c. 1 and 2 correct   d. 1 and 2 incorrect 
e. answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. thisg;Nghy; ntspg;gilahd gifth;;f;F mQ;rNtz;bajpy;iy. 
2. cwtpdiug; Nghy ,Ue;J cl;gif nfhz;lthpd; njhlh;Gf;F mQ;r 

Ntz;Lk; 
a. 1 rhp Mdhy; 2 jtW  b. 1 jtW Mdhy; 2 rhp 
c. 1 kw;Wk; 2 rhp   d. 1 kw;Wk; 2 jtW 



 

18 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

e. tpil njhpatpy;iy 
65. Consider the following sentences: 

1. The average growth rate of India is 7% (approx) 
2. India has Sustained and stable growth rate. 
3. Signs of backwardness are seen. 
4. Large Domestic Consumption 
Which of these are correct? 
a. 1, 2 only   b. 1, 2, 3    c. 1, 4   
d. 1, 2, 3, 4   e. Answer not known 
gpd;tUk; $w;Wfis fUj;jpy; nfhs;f  
1. ,e;jpahtpd; nghUshjhu tsu;r;rp tPjk; 7% 
2. ,e;jpahtpd; tsu;r;rp tpfpjk; ePbj;jjhfTk;> epiyahdjhfTk; cs;sJ. 
3. gpd;jq;fpapUg;gjw;fhd mwpFwpfSk; fhzg;gLfpd;wd. 
4. NgusT cs;ehl;L Efh;r;rp 
a. 1> 2 kl;Lk;  b. 1> 2> 3    c. 1> 4   
d. 1> 2> 3> 4  e. tpil njhpatpy;iy 
  

66. Strengths Indian economy includes 
a. Stable macro economy  b. Rapid growth of urban areas 
c. large population    d. Both a & b  
e. Answer not known 
,e;jpa nghUshjhuj;jpd; gyq;fs; ahit? 
a. epiyahd NgusT nghUshjhuk; 
b. efug;gFjpfspd; tpiuthd tsu;r;rp 
c. mjpf kf;fs;njhif 
d. a kw;Wk; b ,uz;Lk; 
e. tpil njhpatpy;iy 
 

67. G-20 nations includes  
1. Germany  2. Turkey   3.India  4. USA  
a. 1, 2, 4   b. 1, 2, 3, 4    c. 2, 4    
d. 1, 4    e. Answer not known 
G-20 ehLfs; vd;gJ> 
1. n[u;kdp  2. JUf;fp  3. ,e;jpah 4. mnkupf;f If;fpa ehLfs; 
a. 1, 2, 4   b. 1, 2, 3, 4    c. 2, 4    
d. 1, 4    e. tpil njhpatpy;iy 
 

68. The ________ contributes a lion’s share of the GDP in India. 
a. Agricultural sector   b. Industrial sector  
c. Service sector   d. Manufacturing sector   
e. Answer not known 
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,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapy; ngUk; gq;F ____ Jiwapd; 
gq;fspg;ghFk;. 
a.  Ntshz;Jiw  b. njhopw;Jiw  c. gzpfs;Jiw   
d. cw;gj;jpj;Jiw  e. tpil njhpatpy;iy 
 

69. According to Thiruvalluvar, the ________ is the axle-pin of the world; for 
on their prosperity revolves prosperity of others in an economy.  
a. Forests    b. Agriculture   c. Natural Resources 
d. Education  e. Answer not known 
cyfj;jpd; mr;rhzpahfTk;> gpw Jiwfspd; nrOikf;F fhuzkhfTk; 
,Ug;gjhf ts;Sth; vij $Wfpwhh;? 
a. fhLfs;   b. Ntshz;ik     c. ,aw;if tsq;fs; 
d. fy;tp   e. tpil njhpatpy;iy 
 

70. Cluster of villages should form a unit for rural development for people’s 
participation in progress was propounded by _________ 

 a. V.K.R.V Rao  b. Subash Chandra Bose  c. D.R. Gadgil  
 d. C.N. Vakil  e. Answer not known 
 Cuf tsh;r;rpf;fhf fpuhkq;fs; njhFg;ghf xNu myfhf nray;gl Ntz;Lk;.  
 NkYk; mit RaKd;Ndw;wj;jpw;fhf nghJkf;fs; gq;Nfw;Gld; jpwk;gl 
 nray;gl Ntz;Lk; vd;W fUjpath;? 

 a. V.K.R.V. uht;   b. Rgh~; re;jpu Ngh]   c. D.R. fhl;fpy;  
d. C.N. tf;fpy;  e. tpil njhpatpy;iy 
 

71. In Tamil Nadu, (2011 census) 
i. 27% migration by population in Rural areas. 
ii. 37% migration by population in Urban areas 
Which of these are relevant? 
a. i only b. ii only c. i, ii  d. None e. Answer not known 
jkpo;ehL (2011 fzf;nfLg;gpd; gb) 
i. 27% ,lk;ngah;thdJ fpuhkg;Gw kf;fshy; eilngWfpwJ.  
ii. 37% ,lk;ngah;thdJ efh;Gw kf;fshy; eilngWfpwJ.  
a. i kl;Lk;    b. ii kl;Lk;    c. i kw;Wk; ii   
d. vJTkpy;iy  e. tpil njhpatpy;iy  
 

72. Find correct statement regarding recent Supreme Court Judgement 
1. SC rejected same sex marriage 
2. Unmarried couple can adopt children  
3. Art 21 applies to infant in womb 
4. 3rd gender can marry among themselves under existing law 
a. 1, 3, 4 b. 2, 3, 4 c. 1, 2, 3 d. All of these e. Answer not known 
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rkPgj;jpa cr;rePjpkd;w jPh;g;G Fwpj;j rhpahd $w;Wfis fz;lwpf 
1. cr;rePjpkd;wk; XNu ghypd jpUkzj;ij epuhfhpj;jJ 
2. jpUkzkhfhj jk;gjpapdh; Foe;ijfis jj;njLf;f ,aYk; 
3. rl;lf;$W 21 fUtpy; ,Uf;Fk; Foe;ijf;Fk; nghUe;Jk; 
4. jw;NghJs;s rl;lj;jpd;gb 3k; ghypdj;jtu; jq;fSf;Fs; jpUkzk; nra;J 

nfhs;syhk; 
a. 1, 3, 4    b. 2, 3, 4    c. 1, 2, 3 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

73. Providing Urban Anemities to Rural Areas (PURA) was envisaged by 
a. Dr. M.S. Swaminathan  b. Baba Amte   
c. D.R. Godgil    d. Dr. A.P.J. Abdul Kalam  
e. Answer not known 
efh;g;Gw mbg;gil trjpfis fpuhkg;Gwj;jpy; toq;Fk; PURA jpl;lj;ij 
cUthf;fpath; ______ 
a. Dr. M.S. Rthkpehjd;  b. ghgh Mk;Nj   c. D.R. fhl;fpy; 
d. Dr. A.P.J. mg;Jy;fyhk;  e. tpil njhpatpy;iy 
 

74. Thunjinaar Seththaarin Verallar Egngnaandrum 
Nanjunpaar Kallun Pavar 
In this Kural thunjudhal means 
a. mayangudhal  b. urangudhal   c. varundhudhal 
d. Nilaiyamai  e. answer not known 
JQ;rpdhh; nrj;jhhpd; Ntwy;yh; vQ;Qhd;Wk;  
eQ;Rz;ghh; fs;Sz; gth;. vd;w Fwspy; tUk; "JQ;Rjy;" vd;w nrhy;ypd; 
nghUs; vd;d?  
a. kaq;Fjy;  b. cwq;Fjy;    c. tUe;Jjy;   
d. epiyahik   e. tpil njhpatpy;iy  

 

75. Find the sum of the series 
122 + 132 + 142 + ...... + 352 
gpd;tUk; njhlhpd; $Ljiyf; fhz;f.  
122 + 132 + 142 + ...... + 352 
a. 14404   b. 14104 c. 14204  d. 14304 e. tpil njhpatpy;iy  
 

 


